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e Do you agree or disagree?
e To what extent do you agree or disagree?
e Give your opinion.
e What is your opinion?
e Do the advantages of......... outweigh the disadvantages?
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One of the most controversial issues today relates to . ...... (1)....... In this essay, |
am going to examine this question from both points of view

On one side of the argument there are people who argue that the benefits
of....(2)...... considerably outweigh its disadvantages. The main reason for
believing this is that ......... (3)ceeeerennne. It is also possible to say that ...(4)....0ne
good illustration of this is ......(5).......

On the other hand, it is also possible to make the opposing case. It is often
argued that in fact ......(6)..... People often have this opinion because ......(7)......
A second point is that ......(8).....A particularly good example here is......(9)........
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Video games help children to grow their mental abilities
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1- Some experts believe that it is better for children to begin
learning a foreign language at primary school rather than
secondary school. Do the advantages of this outweigh the
disadvantages?
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Topic: learning foreign language for children.
Idea: children will speak fluently, if they start at early age

Idea: children may lose their mother tongue.
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One of the most controversial issues today relates to learning second language
for children. In this essay, | am going to examine this question from both
points of view

On one side of the argument; there are people who argue that the benefits of
learning foreign language at primary school considerably outweigh its
disadvantages. The main reason for believing this is that if children start
learning it at early age, they will speak this language fluently in the nearest
time. It is also possible to say that children at this stage of age do not have
any responsibilities which may effect on their learning such as working or
social relationships. One good illustration of this is in Dubai, children between
ten to 18 years old speak English perfectly as they began learning it at year
one.

On the other hand, it is also possible to make the opposing case. It is often
argued that in fact children at this age may lose their mother language.
People often have this opinion because children may get confused between
their original and second language due to variation of words and grammars,
which will not happen at secondary school stage. A second point is that when
children lose their original language, they will also lose their culture because
their culture has been written by their language. A particularly good example
here is; most of Libyan children in the United Kingdom do not speak Arabic
well, in addition, they do not know anything about their history and culture.

As we have seen, there are no easy answers to this question. On balance,
however, | tend to believe that it is essential to teach children a foreign
language at primary school rather than secondary school. (279)
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One of the most controversial issues today relates to . ......(1)....... In this essay, |
am going to discuss this question from both points of view

On one side of the argument there are people who argue that the benefits
of....(2)...... considerably outweigh its disadvantages. The main reason for
believing this is that ......... (3)ceeeerennne. It is also possible to say that ...(4)....0ne
good illustration of this is ......(5).......

On the other hand, it is also possible to make the opposing case. It is often
argued that in fact ......(6)..... People often have this opinion because ......(7)......
A second point is that ......(8).....A particularly good example here is......(9)........
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Video games help children to grow their mental abilities

5ai 54y JsmiaS JElY) 5 J2iS ae by 5 JeliS 5ol Clall a5 dledl) alead) culaiS) a8 L

oy gl A plaiW AR 8 ol s S8 O cang Uia OS5 Aleall JBLS dlial) il

PGS paad MU 55 A Halad) ARl Lol M pea1 QUM i D jall A2l 8 e (o gaca sl

s 5 5 b5 (S5 5 dal e 5 JAUS A8 o USH i addlal) ladl) ke

A O EaY Lea i Cog ) g laje s elld 5 S

leie ui o) adaiasi ol (S35 3 Sl 338 7 il il slee chal dlla 3 3 S8 & 58  aady Ll
AN V) (i jadl g shsn e an ) Lagd "laic ™ 5ac 18 5l "3 Bac B aladiind Gl |5 laiVL
(corr BBl (8 Lea i aaia)das Liay) Led 5 dal i) dlea (5 AY) 5 dagii L 54k )l dlea

Uea L) andinl 5 Aailall i L) Jaai ) juail) Cilgan 5 (e ol 5 JUiall A0S0 Aled dlan a2di)
el il Al YY) ka5

Prepared by: M. A. Umwayma

Intensive course



Quick
Quick IELTS Centre
QIC
Qi"“.] -
1- Some people regard video games as harmless fun, or even as
a useful educational tool. Others, however, believe that videos
games are having an adverse effect on the people who play

them. In your opinion, do the drawbacks of video games
outweigh the benefits?
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Topic: Video games.
Idea: Video games help users to improve their computer skills

Idea: the excessive of using video games may effect on health.
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One of the most controversial issues today relates to video games .In this
essay; | am going to discuss this question from both points of view

On one side of the argument there are people who argue that the benefits of
video games considerably outweigh its disadvantages. The main reason for
believing this is that video games help users to improve their computer skills.

It is also possible to say that when parents provide interesting games such as
play station or video games to their children, they ensure that their children
will not get involved in such things as drugs or underage drinking. One good
illustration of this is the figure of drug users in Libya has declined dramatically
due to advent computers and video games, compared to two decades ago

On the other hand, it is also possible to make the opposing case. It is often
argued that in fact using video games excessively may lead to obesity. People
often have this opinion because video games players like eating while they
are playing, in addition, they will not do physical activities well. A second
point is that this kind of games may effect on people’s eyes. A particularly
good example here is my son Ali suffer from long sight because of using video
games.

As we have seen, there are no easy answers to this question. On balance,
however, | tend to believe that the benefits of video games outweigh its
drawbacks. (243)
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There is no doubt that....... (1)........ is public debate in this time being
as many of....(2)...... experience from it. However, there are some

solutions which | believe will solve this problem and they will be
demonstrated in this following essay.

Firstly, based on my first hand experienceasa ......... (3)ceene. , | have
noticed that ....... (4).eunnnnns is one of the main causes for the
emergence this problem. As a matter of fact, ....... (5)cennns to support
my opinion, an example will be given,.................... () P
To meet this challenge, | suggest.........cccccceeeennnnn. (7 PO
as a result of this,.......cccceeereeiiieeiiieeceeeennnns -3 P
Secondly, as | am from eastern society ,it seems to me,.......... (9)........
is the major reason of this issue. Evidently, ................. (10)..cceevrernnnnn.
To reinforce and illustrate that the ...... (12)...... is the substantial
reason, a real example is shown here............. (12)ueeeeennnnnnnnnnnnnnnnns

To combat this grave problem, | propose................ (1) PO
Therefore, ...ccceveeereerenncrennnnne 3 0 ) TP

To sum up, there are other significant factors which may also be
more helpful; however, | do believe those measures that | have
mentioned are the most necessary measures.
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There is no doubt that....... (1)........ is public debate in this time being
as many of....(2)...... experience from it. However, there are some
reasons which | believe will cause this problem and they will be
demonstrated in this following essay.

Firstly, based on my first hand experienceasa ......... (3)ceene. , | have
noticed that ....... (4).eunnnnns is one of the main causes for the
emergence this problem. As a matter of fact, ....... (57 to support
my opinion, an example will be given,.................... () S
To meet this challenge, | suggest..............ec....... 7 P
as a result of this,.......cccceeereeiiieeiiireeieeennnns -3 P
Secondly, as | am from eastern society ,it seems to me,.......... (9).euenen
is the major reason of this issue. Evidently, ................. (10).ceeennnnn.
To reinforce and illustrate that the ...... (12)...... is the substantial
reason, a real example is shown here............. (12)eeeeeennnnnnnnnnnnnnnnns

To combat this grave problem, | propose................ (1) PO
Therefore, ...cccceveeeeereencerennnnns [ TS

To sum up, there are other significant factors which may also be
more helpful; however, | do believe those measures that | have
mentioned are the most necessary measures.
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Type C Reasons and solutions

There is no doubt that....... (1)........ is public debate in this time being
as many of....(2)...... experience from it. However, there are some
measures which | believe will solve this problem and they will be
demonstrated in this following essay.

Firstly, based on my first hand experienceasa ......... (3)ceene. , | have
noticed that ....... (4).eunnnnns is one of the main causes for the
emergence this problem. As a matter of fact, ....... (57 to support
my opinion, an example will be given,.................... () S
To meet this challenge, | suggest..............ec....... 7 P
as a result of this,.......cccceeereeiiieeiiireeieeennnns -3 P
Secondly, as | am from eastern society ,it seems to me,.......... (9).euenen
is the major reason of this issue. Evidently, ................. (10).ceeennnnn.
To reinforce and illustrate that the ...... (12)...... is the substantial
reason, a real example is shown here............. (12)eeeeeennnnnnnnnnnnnnnnns

To combat this grave problem, | propose................ (1) PO
Therefore, ...cccceveeeeereencerennnnns [ TS

To sum up, there are other significant factors which may also be
more helpful; however, | do believe those measures that | have
mentioned are the most necessary measures.
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1- The number of plants and animals is declining. Describe some reasons for this
problem and suggest some solutions.

There is no doubt that decreasing animal and plants is public debate
in this time being as many of countries experience from it. However,
there are some measures which | believe will solve this problem and
they will be demonstrated in this following essay.

Firstly, based on my first hand experience as an environmental
researcher | have noticed that cutting trees is one of the main causes
for the emergence this problem. As a matter of fact, people in most
countries cut trees, when they go for picnic for doing barbecue or
burning fire at night. To support my opinion, an example will be

reason, a real example is shown here............. (12).ceiiiiiiiiiiiininnne,
To combat this grave problem, | propose................ (1) PO
Therefore, ...ccceeveeneereencerennnnns 1 TS

To sum up, there are other significant factors which may also be
more helpful; however, | do believe those measures that | have
mentioned are the most necessary measures.
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And

In addition

elly ) Cal

3
Plus L Also Ll
As well as Ll Too Lyl
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1. Ahmad can speak English and he can speak French.
Al Gaaty o gl g 4 judadY) Gy G deal gk
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2. Ahmad can speak English. He can also speak French.
EIWEH FUIICI IOV I APR FRREX Y JUXSC A EVEN P S
3. Ahmad can speak English plus French.
ENRRIRCEY IV FET RN QORI JOR PR
4. Ahmad can speak English as well as French.
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5. Ahmad can speak English. In addition he can speak French.
A il Baay o gl &b e 3 50e A jalaty) Saah o deal alaiey
6. Ahmad can speak English and he can speak English too.
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1. Jordan produces phosphate and cement.
(3an) 5 Alan) L Cians) g il gall (50 )Y i
2. Jordan produces phosphate plus cement.
(32n) 5 Alaa)  Ciian) 201 ) Ml 5 i gl (3,1 Z
3. Jordan produces phosphate as well as cement.
(3an) 5 Alaa)  Crian¥) Lol 5 clias gall (0 ;Y1 i
4. Jordan produces phosphate and it produces cement.
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1. Jordan produces phosphate and it also produces cement.

2. Jordan produces phosphate. In_addition it produces cement.
3. Jordan produces phosphate and it produces cement too.
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Although ot b But Sl
However ST/ elld wa Nevertheless CSl/elld aa
On the one hand Al (e On the other hand Al Aali (e

=400 ALY (ual
1. Although Manal was ill, she went to school.
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2. Manal was ill but she went to school.
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Bl sy

3. Manal was ill. However, she went to school.
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el i 3 (pelal

But = however
AN Bay AL Alaal) (i & (nevertheless €l aag) Jal 1 Jastiadn (Y15

4. Manal was ill. Nevertheless, she went to school.

(but/however/nevertheless) &ALl sl ol aad 13ay ilidy I daal) ¢ Jaadls
i) (kg Fmall b s Ly i

pik Laaaa) Ldle) (puidlide (0 S8 apafil olldg Aland) Gudd B cpadlil) Gudal ) Jamiad 11l g
t(digbsn 5 AY) g £ Clica

on the one hand dals (pe (Slala¥) 5 il )
on the other hand 3l &l (s (bl 5 (5 sbuaal) 2355)

On the one hand the mobile phone is very useful and practical. On the
other hand, it may cause health problems.

() Anms JSUkie Cany 35 5 AT Rl o (il ) e 5 e (6 513 () I 2ali 0
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eile
B il glea ABLGY AN Jay) g0 Jariei .1
- also(aebuall Jadll aay i (galall Jail) U8 adi )
- too(anll diles A aui)
- In addition (3 daall dylay & Lo gl 3 &S 5)

- plus/and/ as well as sf sasls dlaa 8 adi of Jila s dleal) Jau y aE)

- too/ in addition/ also (Ll ciles 8 &5 of can)
rdad gle Aol ) quen gl AN Jag) g 1) Jeriad g 2
- although+l 48 i /s dea

- but/However/Neverthless+a=d sia ye daii dlaa

e ((piilida cpiiia athi Ladie Alarisd (DUt ¢Sls) dal U JAT Jlaricd) cllia g

-My brother likes football, but | like basketball.

Exercise 1

(oA A8a) ALl 5 S Galf Al g (Lo Al 28} 3 S AT quay

Choose the correct item in brackets.

1. Ahmad is 45 years old........... he looks younger. ( and, but, too)

2. | haven't seen my uncle for a long time. .......... , | recognized him
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at once. (In addition, Although, However)
3 e the sun was shining, the water was cold.
(As well as, Although, But)
4.The food was delicious. ................ the service was excellent.

(In addition, However, Although)
5. | have invited Sami and | have......... invited his brother.
(but, too, also)

6. .... Adnan had the necessary qualifications, he didn't get the job.
(Although, However, As well as)

7. My grandfather wasn't very rich. ......... , he always gave money to
the poor. (Plus, Although, Nevertheless)
8. He slept quickly............. there was much noise.

(but, and, although)
9. That car has two doors. It has a moveable roof .............. )

(plus, and, too)

10. The computer can save your time......... it has many interesting
things. (plus, however, although)
11. Ramiistall............ his son is very short.

(but, however, although)

Prepared by: M. A. Umwayma
24
Intensive course



J/Q\

Quick
Quick IELTS Centre

QIC
Linking words (2)

B ) cilals(2)

AN B ,Sdal) B 5 g gall ALid) 4 gal

1. but 2. However 3. Although 4. In addition
5. also 6. Although 7. Nevertheless 8. although
9. too 10. plus 11. but (¢sid8a)

rOa el 138 YA e daa )l <l g3l e (AU £ Jad) AU ) S8 il
Exercise 2
Choose the correct item in brackets.
1. They went out.......... the heavy snow. (although, despite, plus)
2. They went out...... it was snowing heavily.(although, despite, plus)
K R Nawal was very tired, she watched the film with us.
(Although, In spite of, As well as)
4. ... her tiredness, Nawal watched the film with us.
(Although, In spite of, As well as)
S T my terrible headache, | did well in the exam.
(Although, Despite, Also)
(T | had a terrible headache, | did well in the exam.
(Although, Despite, Also)

7. 1 went to work......... my doctor advised me to stay in bed.
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(although, in spite of, However)
8. My doctor advised me to stay in bed. ............ , | went to work.
(although, in spite of, However)
9. Fadi couldn't become rich......... his strong ambitions.
(although, in spite of, but)
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038 9 cpuad) M Aadgia Aagil ad (5 AV Ly pdE5 Laalia) ¢pilen oy d aadied Jal g oY f

D A Al gl
A. Because/ Since/ As } + cuad) Aas (quse)
dosead) Alaa 550l Laday wls ¢ () L i imall ol Led Jadd s 038 s

1. Because Muna was ill, she did not go to school.

(a3 gie daii) A paall ) ali ol ¢(ans) A jo CilS e O Casns
B. because of, due to } + quwdl ey (Guew)

) Cliaa g andl 5 pilae Lgaiiy 431 4ie (alias Sy “hecause” alasinls ime (i L Jayl 5 ) o2a
DAl ALY ), ((ldas and o g siad Ji - Jad 4 Jeliy lag Y dlaa 2

1. Because Shaker was ill, he did not go to school.

deld (ab
2. Because of his illness, Shaker did not go to school.

Ailda g )
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rdad gia Aagiil Jay ) @l ol 1L
So, Therefore, In consequence, Hence,
As a result, Thus, Consequently, | According to this

o3 (o iamy liga () V) (A Lo ) Ly j5 i Jsandl 853 s sal) colalSH) S L LaaY
el s giv LU ABeY) LuapdlST ST (S AY) Gandl 5 dpalall dagiil) b axdiies LK
()b stiad) alalall 5 Jualall aladin) 48 ae il 52¥) 528

s AsaalSl i oS o il Gmry Jgaad) 30 g sall cl W) S adde (Gulai g aal g Jlie a2l o g
_aPQﬁwJSY\OﬁMQ}Medﬁj\&WY‘&’ﬁéwmqrgsq‘)ﬁoiOY\éi)}’y

Aad gia Aaili Alaa 5 580 (SO 13¢5/l Jasl 1) ey 2y

1. Muna was ill, so she did not go to school.

2.. Muna was ill, therefore, she did not go to school.

3. Muna was ill. Therefore, she did not go to school.

4. Muna was ill, in consequence, she did not go to school.

5. Muna was ill. In consequence, she did not go to school.

6. Muna was ill, hence, she did not go to school.

7. Muna was ill. Hence, she did not go to school.

8. Muna was ill, as a result, she did not go to school.

9. Muna was ill. As a result, she did not go to school.

10. Muna was ill, thus, she did not go to school.
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Muna was ill. Thus, she did not go to school.

Muna was ill; consequently she did not go to school.

Muna was ill. Consequently, she did not go to school.

Muna was ill, according to this, she did not go to school.

15. Muna was ill. According to this, she did not go to school.

ALl JUia 15 A 39 sal) qu ad) A g8 La Uia J)igud)

1dad giall Aauiill dlas g Gl Alan Joy i AN Jaal g ) Bacld yaidll

1. becausel/sincelas } + Jo@ + Jad  (qued) Uaq)

2. because of, due to } +4ilia g aul (el dlaz)

3.50 } + Jold + Jad (dad gia Al Alay)
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(the purpose)iall g git 40l Jayl g 1) A gana Jariead (TG
A.in order to/so as to/ to] S/ Jal ¢

L V) iy peail 58 5) 3 e mdilgny O g 4 Laa¥ 5 (S /Dl (e (i Jagl 5 ) 038 aen
.(be,have,do

- We went early in order to finish our work on time.
Al gl b Ulee gt o dal e TS0 Ll

- She does exercises so as to be fit. . 4L & 0585 o dal e o lailly a5

B. in order that/ so that] <!/ Jal ¢

a4 deld) L oSy S /dal e G Ll Ll e e
.will/would/can/could :Ji« (Modals) Jlxsi

- We went early so that we could finish our work on time.

- She took a vacation in order that she would take care of her sick child.
Exercise 1

Choose the correct answer in brackets..o« $¥) ¢ gasall i gall Jid)

1. We were late....there was heavy traffic. (because, because of, so)

2. We were late.......... the heavy traffic. (since, because of, so)

3. He found life in China very difficult.......... he couldn't understand
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the language. (as, in order to, so)
4. He found life in China very difficult........... the language.
(because, in order that, due to)
5. Sameer crashed his car........... he was driving too fast.
(since, because of, so)
6. Sameer was driving too fast........ he crashed his car.
(since, because of, so)
7. Rania studied every day........... improve her English.
(so that, because, so as to0)
8. Rania studied every day........... she could improve her English.
(so that, because, so as t0)
9. Majed didn't have a driving license, his father refused to
allow him to drive his car. (Because , Because of, So)
10. Majed didn't have a driving license, ........... his father refused to
allow him to drive his car. (because , because of, so)
11. Majed didn't have a driving license, ........... his father agreed to
allow him to drive his car. (because , but, so)
12. My failure in the exam was ............. lack of confidence.
(since, so, due to)
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13. He didn't earn enough money. ......, he decided to work overtime.

(so / because / in order to)

14........... the bad weather, we decided to delay our trip.

Important words

Word Synonym Kind of word Notice
System unit
Push Press
Under below
Behind Back, backward
Calling Phoning, ringing
Current Present, running, existing
Previous Prior, former
Work Business, job, occupation
Task Mission, job
Sum Total
Service Favor
Internet Online
Essential Fundamental,
Major Main
Available Ready, obtainable
Title Call
Was Used to
Lack of Shortage, scarcity, reduction
Agriculture Farming, cultivation, seeding
Head President, leader, boss
Replace Change, exchange,
Hospitality Entertainment
Walk through Walk cross
Purpose Point, aim, objective
Part Area, zone, region, district, territory
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Homework
2014\04\14 8 gall (i) a g

1- The chart below shows the percentage change in the share of
international students among university graduates in different Canadian
provinces between 2001 and 2006.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.

International graduates, Canadian universities, 2001 and 2006

Mew Brunswick

Mova Scotia

Quebec

Alberta B 7001

British Columbia N 2006

Manitoba

MNewfoundland and Labrador

Ontario

0% 5% 10% 15%

Source: Statistics Canada, Postsecondary Student Information System
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2- Theline graph below gives information about the number of visitors to
three London museums between June and September 2013.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.
Number of visitors per month in summer, 2013 (in thousands)

800 -
700
600
500 - \

400 - — %

300 —

200 -+
100 4

lune July August September

s British Museum —SCience Museum s Natural History Museum
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3- The bar chart below gives information about the percentage of the
population living in urban areas in the world and in different continents.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.

Percentage of populationin urban areas

World Africa Asiz Europe Latin America Morth America
Caribbean

1550 W2007 W2030

Prepared by: M. A. Umwayma
35
Intensive course



J/Q\

Quick
Quick IELTS Centre
QIC

2014\04\17 (31 sall Gusadd) g

4- The table below presents the number of children ever born to women
aged 40-44 years in Australia for each year the information was
collected since 1981.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.

Number of children ever born, Women aged 40-44 years

Four or

One Two Three more

None child children children children

year % % % % %
2006 15.9 13.2 38.3 21.5 11.0
1996 12.8 11.3 38.2 24.6 13.1
1986 9.7 8.7 35.6 27.0 18.9
1981 8.5 7.6 29.0 27.4 27.6
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5- The pie charts below give information about world population in 1900
and 2000.

Summarise the information by selecting and reporting the main
features, and make comparisons where relevant.

Write at least 150 words.

World population by region, 1900 and 2000

Latin Armerica

3%
Middle East and . Others
Moth Africa Africa 3%
6% Morth America 4%
Dthers 5%

Latin America &
Caribbean
8%

3%

Marth America
5%

1900
(1.6 billion)
Europe
(including
Russia) 2000
14% (6 billion)
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Homework task 2 in weekend

1- Some people think women should be allowed to join the army, the navy
and the air force just like men.

To what extent do you agree or disagree?

2- Some people think that in the modern world we are more dependent on
each other, while others think that people have become more
independent. Discuss both views and give your own opinion.

3- Nowadays it is easy to apply for and be given a credit card. However,
some people experience problems when they are not be able to pay
their debts back. In your opinion, do the advantages of credit cards
outweigh the disadvantages?

4- Many people decide on a career path early in their lives and keep to it.
This, they argue, leads to a more satisfying working life.

To what extent do you agree with this view?
What other things can people do in order to have a satisfying working
life?
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